BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

1000

100

rm405 X%/ (406218-5103)=1.437
F———— - - T - - - - 1 - ~ - - T r T T " 1T ' T T T T T T T T T4

BIC 642308.06 ABIC 0.000 AlogP 0.0000
I X% 576404.62 Ax?> 0.000 AlogP 0.0000 ]
o — = = = = = = = = = = = = = = = ]
I 5103 ]

A

L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |

5 10 15 20 25 30
30 iterations

rm405 ¥%/(406218-5103)=1.437
— 1 - - - 1 r - r 1T T ~ T T T r T T T 1T T " T T 1
i BIC 642308.06 ABIC 0.000 AlogP 0.0000 -
- x? 576404.62 Ax?> 0.000 AlogP 0.0000 -

Fe2 61765% 884+0 km/s
rm405 BLR 5960 NLR 900 km/s

30 iterations

BIC

BLR

RE&R

kdh1 8-0ct-2021 02:12



